Assembly, Installation, Operation
and Maintenance Instructions

“"’K* CENTER BOLT KIT

TOWING PRODUCTS

Part # 32059

Provide a copy of these Instructions to the end user of this product. These Instructions provide important

Dealer / operating and safety information for proper usage of this product. Demonstrate the proper use of the
Installer: product with the end user. Have the end user demonstrate that they understand the proper use of the
product.
. Read and follow all instructions included in this manual. Ask your Dealer / Installer for assistance if you do
End User:
not understand the proper use of the product. Never remove any decals from the product.
PARTS LISTING TOOLS REQUIRED:
NO. DESCRIPTION QTY DRILL
1 5/8-11 X 3/1/2 LONG CARRIAGE BOLT 2 5/8" DRILL BIT
2 SPACER PLATE 4 15/16" SOCKET
3 5/8 FLAT WASHER 2 TORQUE WRENCH (150 LBS.-FT. MIN.)
4 5/8 LOCK WASHER 2
5 5/8-11 HEX NUT 2
WARNING! Never exceed the CAUTION: Do not install base rails over plastic bed liners.

towing capacity of the tow vehicle.

Base Rails Not Included

Plastic bed liners must be cut out of the way. Rails may be
installed on spray in liners. Consult spray liner installer for
recommended curing time.

Application: For use with base rail part # 30686.

1: Install the Husky Center Bolt kit using the parts provided in this kit.
2: Locate the center hole in each base rail. See Figure 1. Using these holes as a guide, drill a 5/8” hole through the
truck bed. Confirm that the fuel tank, brake/fuel lines, electrical wires located under the bed are not in the

path of drilling the holes in this step.

O O oo O oo O o
& 0 L - — -~

I [y [— [— O C sy ) R I B
ot e Y ™ P {y

O 0O 0o O oo o o

Center Bolt hole locations Figure 1

O 0 0o O Do oo
1 @] 8 ~ = -

1 Y S —J [— O [—- A — [ s
0 0 o £ O

O o oo O oo o o

All Products limited to Vehicle Tow Rating, see Vehicle Owners Manual. See www.huskytow.com for Warranty Information /

Tech Support / Product Updates. © 2017 DTS Mfg. April 5, 2017-Rev3

Page-1




3: Drop the 5/8 carriage bolts supplied through the center bolt locations, through the truck bed.

4: Check the corrugations in the truck bed floor and place the spacer plate in the correct position as shown.

See Figure 2

Spacer plates below
bed corrugation.

BASE RAIL

1 Spacer plate above bed corrugation &
1 spacer plate below bed corrugation.

BASE RAIL

2 spacer plates must
be installed on each
carriage head bolt

and oriented ina "X"
shape.

i asEa -
— : = R S - - .
- — m— " w S
T D/
BED % g BED
CORRUGATION CORRUGATION

2 spacer plates must
be installed on each
carriage head bolt

andoriented ina "X"
shape.

]
=)
=

Figure 2

5: Tighten the 5/8” hex nuts to 150 Ibs.-ft.

All Products limited to Vehicle Tow Rating, see Vehicle Owners Manual. See www.huskytow.com for Warranty Information /

Tech Support / Product Updates. © 2017 DTS Mfg. April 5, 2017-Rev3 Page-2




Date Code Location on Product

#32059 CENTER BOLT SERVICE KIT

(2) 5/8-11 X 3.50 CARRIAGE HEAD BOLTS
(2) 5/8-11 HEX NUTS
(2) 5/8 FLAT WASHERS
(2) 5/8 LOCK WASHERS
(1) INSTRUCTION SHEET

HUSKY

TOWING PRODUCTS
www.huskytow.com

Designed & tested in the USA & Made in China for /
Congu et testé aux E.-U. et fabriqué en Chine pour
acturing, Wilsonville,

0 03 ]| 32059 2

The date code for this product is located on the UPC label

Please retain this info for your records.

All Products limited to Vehicle Tow Rating, see Vehicle Owners Manual. See www.huskytow.com for Warranty Information /
Tech Support / Product Updates. © 2017 DTS Mfg. April 5, 2017-Rev3 Page-3



Warranty Terms:

5 Year Limited Warranty:

This warranty applies solely to Husky 5" Wheel Installation Kit manufactured by DTS Mfg. for Husky
Towing Products.

Husky Towing Products and DTS Mfg. make no guarantees or warranties for products not manufactured
by DTS Mfg. Such products are covered solely under any applicable warranty of the manufacturer. It is
always recommended that the operating instructions and guarantee instructions provided by the
manufacturer are followed.

DTS Mfg. warrants its products to be free from manufacturing and material defects to the original
purchaser for the length of warranty stated above from the date of retail purchase. If any products are
found to have a manufacturing or material defect, the product will be replaced or repaired at the option of
Husky Towing Products and DTS Mfg. with proof of purchase by the original purchaser. The original
purchaser shall pay all transportation and shipping costs associated with the return of the defective
product and the defective product shall become the property of DTS Mfg.

The Warranty applies to DTS Mfg. products used for individual and recreational purposes. Commercial
usage of the DTS Mfg. products limits the warranty to 90-days from date of purchase.

The Warranty applies only to DTS Mfg. products which are found to be defective in manufacturing or
material. This warranty does not apply to normal wear and tear of  the finished placed on DTS Mfg.
products.

Husky Towing Products and DTS Mfg. are not responsible for any labor costs incurred for removal or
replacement of the defective product.

Husky Towing Products and DTS Mfg. are not responsible for repair or replacement of any product under
the limited warranty where the product was improperly installed, misapplied, altered, abused, neglected,
overloaded, misused or damaged as a result of an accident, including any use of the product not in
accordance with all product operating and safety instructions.

Without limiting the generality of the foregoing, Husky Towing Products and DTS Mfg. shall under no
circumstances be liable for any incidental or consequential loss or damage whatsoever arising out of, or in
any way relating to any such breach of warranty or claimed defect in, or non-performance of the products.
Some states do not allow the exclusion or limitation of incidental or consequential damages, so the above
exclusion or limitation may not apply to you.

This limited warranty gives you specific legal rights, and you may also have other rights that vary from
state to state.

All Products limited to Vehicle Tow Rating, see Vehicle Owners Manual. See www.huskytow.com for Warranty Information /
Tech Support / Product Updates. © 2017 DTS Mfg. April 5, 2017-Rev3 Page-4



